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SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Graph the solution set of the system of inequalities or indicate that the system has no solution.
1) x2 + y2 <81 1)

| mne

Solve the system by the substitution method. _j_ 3 (i tf
2 xy=1 2) 11 5

~12x -y =-7

=
4%
- &% ~-k=-7
—\2yx*-1 = ~Ix
‘g_xl_.-]y 4] &6



Graph the solution set of the system of inequalities or indicate that the system has no solution.

3) x2+y2<36

y-x2>0 3>X

Solve the system by the substitution method.

Hx+y=12 7:‘2,7( X"’?{}

y=x2-12x+36

IZ*N"K-ﬂly%Bb 3:Lh7

O0=x"=Ilx+2y
0= x-3)x- '
Write the partial fraction decomposition of the rational expression.

3x+7
(x- 8)°

347 _
(x-8)" X’" (j
2y4n = A(v-8)+6

3x47 = Ax—BA 48
@iﬁi” g

1= AR
T=-3(3)+8
3| =B

5)

0 (34).9)

N i 2
5 X-8 (Y'@




Graph the solution set of the system of inequalities or indicate that the system has no solution.
6) X2+ y2 <81 6 =
-3x + 7y = -21 Ty &3x-2|

Solve the system by the addition method. i
7)x2+)c,£-8x+2’7-8=0 X:’-’ q _,‘ 7) L(?! ’)f (v’f -l)
o . W ot e
&5 Lyz B g 100 [ T N ()= 3y -42(4) -8 =0
2y - lpx ~g o (9. 2‘:) + Fy
1= Juslize Xyaca-a
(e x%ax-io
(x40t ) =0 M ﬁ—,-|

Graph the solution set of the system of inequalities or indicate that th

stem has no solution, ‘
8) Ix+y>3 l\,] > -——;Y*; | X ' 8) M/O \501,(4‘&'-174“
Ix+y<l \jéfg)('l"
Ny




Graph the inequality.

9) y>x2+1
A AD

Write the partial fraction deczTKposition of the rational expression.
15x2 - x = 20 =2 B C
5 X+ Dx-1) > XX {"":‘:\’
ISK’=X ~20 = A(x\()(x ) 480X ¢ x (x40
X=X 20 = Ay™-A +Bx% BYH L)Y

Solve the system by the addition method

nfx2y2=16 YV —4x* 982-— -14¢
(16x2y+9y2=144 ]a,(?_ i |4 U

‘ N L )('?';0
IS=A+8 Jf(;} i Y20
B somc e
i g
-2, i,
~\=-8 -3

g) o
w2 o
1) X X+ X-|




Graph the solution sdRof the system of inequalities or indicate that the system has no solution.
12)

Graph the inequality. &_,-—

13) x2 + y2 g1 13)

~
o

'

S

= v

Solve the system by the substitution method. ( - )
14>y=é::y @ Q4=

x2 4 2 25 _X-;;: C‘.,B i"’f’g)’ (..\_(Ig)

-

7 15 e 2 _ - Rk \j:Q'B
X +.-(X -—\S) =S =y \j-__ I3

X%y e zpxt etz 25 ==

X =28 gy =o

(- 1 & )
X= 2073 (1,



Solve the system by the addition method. 7 7

15) x2 + y2 = 85 8 - "3 15
() xP=ple-id Po g ! il -
2,(7— —»7?_ | weel] ‘—L'? 6’17)('@ 7)
=3¢ L j ‘{?
Write the partial fraction decompusmon of the rmonal expression. (& :
e A o = -4 )('3,
16)9—2)3—Xl-6— i a = X T == )\_” 16 X X X4
¥(x*=1) [fk —x-16= Ax 'A*BX+%XI“Q‘£"(J |
\((\("\Xxﬂ) q Afﬁ—f- b%@’( "|’ =N
?—C, ‘"? = / 5% ’C
; (,Lv = \+)
Solve by the method of your choice. = : i
17)x3+y =0 ' . e A 8— 266 17) (U 02 (‘7,?‘1-"
(.H 7x2 -y =0 X_:Ol"7 \1
X+ =0
(xxT)ze
. W . | . g =
Write the partial fraction decomposition of the rational expression. Cr = B
x =10 L% Y'L =
B = ‘é’_l } _)Z__‘,f . B ’; 18) X;IV
¥-10= A(x=¢) +8(x-2) C A=Y
Y10 = A4 +8x-2B

Tz AR o= A 28
solve e method of your ¢ oice\—!_i;:l_/_q’ﬂf -
Solve by th thod of y h . ., ('6 Z) (b __8)

19) x2 + y2 = 100 -6 = 28R
L) (x-3)2+y2=73

Co x4 =27 = bf
bx =30 Y= 132
X= b
Write the partialgraction decomposition of the rational expression. £ i s .
20) x3-§x2+x = _é(,_\,% +C)f_;r1 20) X__x~| Cé'l)
X(Fr) ez A (-OR Bx(x-0 ¥ Cx
x(y—\)bﬁ-’\) XsE Ax 2AXHA 4B —Bx A (x

BEA . -zb‘) -(-5) ¢
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